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S s
Palakel

3 Agdiyae(Letssdd/NLdy - HEXH)
ol AL2™HO 28N 2 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—EXNS)| =&
15,0002 +80R X 128 14,400
2 ZZ2H| 6,072 6,072 0
OBB23 % HA 6,072
~-243 2HSIIE
2,5303 %2002+ 128 6.072
202 04l 2,880 2,880
01 2LHoIH 2,880 2,880
OE4Eo FTAL 0
80,0002 x3&* 12 2,880
203 2=l 2,240 2,240
03 A= PR FA| 2,240 2,240
OHLHE U2EX
20,0002 x82*143] 2,240
401 AIEHIL2OH] 500,000 500,000
01 Al 500,000 500,000
OUINZ 8X 243 100,000,002 100,000
OBTAIE XU 0IXIZ 8X
400,000,000 400,000
A0l 10,000 30,000 A20,000
401 AlEHIL 2] 10,000 30,000 20,000
01 Al&H| 10,000 30,000 20,000
OALIIN BYEIIF AFAL U BAF
uf 10,000,000& 10,000
E2II8 2E(RSYER/E2) 6,897,257 4,125,800 2,771,457
= 75,000
o 6,822,257
CEAESEE € E5ALEY 124,120 109,600 14,520
CERAZe 29 124,120 109,600 14,520
201 fer= 3| 89,120 79,600 9,520
01 At 2|l 24,120 17,600 6,520
O=z2eldos &4 ¢
100,000 7 & *43] 2,800
OEz2E+2 Hl4272 =S|
8,000 x 152 +5A!x 12 7,200
OL2E+3 IIsH(LEANEE S)
600,000 %15 9,000
Oget=EH| 1,520
—202449 HESA HESH F
60,0003 172 1,020
-5z SWIE X 500,000 500
OE2RA2c=2EE ?let S
600,000 *6LH 3,600
2 S22l 65,000 62,000 3,000




SN ALDED
3 C2I18 XE(NSESFR/E2)
ol S2AE=EH & EAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=z22%Y S iy
2,000,000 *6CH 12,000
O=2ReINY S SR
2,50024+8 § *7CH+2502 35,000
ONEHEHT S BRR L HA
1,500,000& «12& 18,000
206 Tl 30,000 25,000 5,000
IEET 30,000 25,000 5,000
Og2+28 HUTT 7Y
5,000,000& 5,000
ON&E Zatzts ¢ 10,000,000 10,000
O824+ ZUHOIAE Y
10,000,000 10,000
OMNSHEZX ALHEN 2
5,000,000& 5,000
405 AtatE = 5,000 5,000
01 ML ESFSHI 5,000 5,000
T2 MAFY 2Y
5,000,000& 5,000
7L HEAY 645,000 431,440 213,560
< 75,000
= 570,000
2U E22e| 7Y MYH 2 200,000 200,000
401 Al HIZL 2048 200,000 200,000
01 Al&H| 200,000 200,000
O=zze|7y MM 23 (EAH)
200,000,000 x 14 200,000
ololEs+aY EH 215,000 0 215,000
=S 75,000
s 140,000
401 AIEHIZ SR THYI 215,000 0 215,000
< 75,000
[Ea 140,000
01 Al&HI 215,000 0 215,000
O0eloI2= 7Y AldE |RAE+
30,000,000& 30,000
O0gl0I22+4 JHE ALY
150,000,000 150,000
= 75,000
o 75,000
ORI NSHEFH HIIHFA =8
35,000,000 35,000
AEEZ M (EX) 200,000 200,000
401 Al HIZ 2018 200,000 200,000
01 Al&H| 200,000 200,000




SN ALDED
Hu: C2I|Y IH(DEYSR/E2)
ool SRR JfE A (el mg)
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
O&Y 0|=X7 |EE2 ALY
200,000,000 14! 200,000
o125 LAY 30,000 30,000
401 AlEHI L2 CHH] 30,000 30,000
01 A&l 30,000 30,000
OLoIE57d &S SX24
30,000,000& 30,000
oL - sHEZZ FUIALY 6,128,137 3,584,760 2,543,377
T EHIAIY 1,006,048 342,448 663,600
401 AIEHIZL 201 1,006,048 342,448 663,600
01 Al&HI 1,000,000 340,000 660,000
OUe 2&4sd AKX SNBSS AL
100,000,000 * 14! 100,000
O2d 220 Al E2HAHY
20,000,000& * 14! 20,000
09" &= A2 ZEHIA
20,000,000 * 14! 20,000
O3td Z2E1sd MEXF OtAZEEIAL
110,000,000 14! 110,000
29 2& 3SHE(II0IXF) S2AHH FH|
SAH 60,000,000 14| 60,000
ONB 2E BSH(SAKIT) Al BHIZAl
40,000,000 14 40,000
OXIE 29 (HAHH) EEZEZAL
500,000,000& 14 500,000
OXE d|or2(2lc2ss M)+ 223
Al 15,000,000 14| 15,000
22 2& 7S (SHAXR) T2AMH B
ZA 40,000,00021 14! 40,000
OFY 25 BE(SLXD) HAZ FHIB
At 25,000,000 14! 25,000
O8= 25 1088 (HEXR) otAZ2 ZES
A 50,000,000 14| 50,000
OR= 21086 ASAXF OtAZE IM =R
Jl SA 20,000,000 14! 20,000
03 AIE =2 CHHI 6,048 2,448 3,600
O =SHIAIY AIE 20|
960,000,000 *0.63% 6,048
sHEZZ FHIALS 397,489 382,736 14,753
401 A& B2 20| 397,489 382,736 14,753
01 AlEHI 395,000 380,000 15,000
OZ= & NISH(AZXF) AIH BASA
40,000,000 14 40,000
OZ=Z el 2daH =X+ =2 &X3
At 30,000,000 * 14! 30,000
Ol9 el: N1ad F3X+ &2 &2FE
A 50,000,000& * 14! 50,000




A A
My 2|
SE RIS

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ostd 2k 0128 AA Bi+=2 HHISA
30,000,000& »14] 30,000
O3td el 2658 A=K7 i & A
20,000,000& * 14! 20,000
Od= sk Nzl SEXNT “2EHISA
80,000,000 *14{ 80,000
O38= clk 2Bz d HASXH EXSA
20,000,000& x 14 20,000
O8=% clk 235 d OtA2 HEEHSA
80,000,000& *14! 80,000
O=7 oIk 2384 dEXF S 2 OrA
ZRMLI| SAt 45,000,000& *x14] 45,000
03 Al 2CHYI 2,489 2,736 N2AT
OsHEZZ FHIAIY A=
395,000, 0002 *0.63% 2,489
CERAHCIAE 2,537,600 2,406,336 131,264
401 AIEHIZ 20 2,537,600 1,906,336 631,264
01 AlZ2H| 2,525,000 1,900,000 625,000
OFLEZ DN
100,000,000 100,000
FRE2 JtEde XA
100,000,000 100,000
OF2=Z NES MHAE
30,000,000 30,000
02T ¥ =01EE2 Hyl ¥ P4
300,000,000 300,000
O=ZH==Al4 HE= 100,000,000 100,000
OE==ZotMAIE EHI 100,000,000 100,000
OIMEEM(ZE & SHEZZ)
100,000,000& 100,000
OF=2EZ ZIHXl & 100,000,000 100,000
Okzug 2+ 22 100,000,000 100,000
OANSE DY FHIIREZ B (A8D))
50,000,000& » 14 50,000
OAISE ug JErNEH 9
50,000,000& *14! 50,000
OE2FN22IAY AAEH E
100,000,000 100,000
Otz 85+ 3J gXt
20,000,000& 20,000
Oz Paod U HOSA J|=HE
B 70,000,000 70,000
Okz24 2l & sHEZZ J =34
2 500,000,000 500,000
OZE1BEH S 2l LSHTALS F
BIS At 15,000,000 15,000

OXE =Xk 6028 &S =2 EXISAt
20,000,000& *14] 20,000




FAN AZUSH
M 2|8 2H(USESR/ER)
ol 25 sSHEZZ JHIAY (SH9 H2)
2 IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
O=k 058(%=X7) 552 FJHISA
250,000,000 * 14 250,000
OZ2+ 2NTEBH NSKT 222 M|
SAt 20,000,000 *14] 20,000
O02g4.26=283 2 EXISA
400,000,000 * 14 400,000
03 Al 20HHI 12,600 6,336 6,264
O RAI2CIAE AR08
2,000,000,000&*0.63% 12,600
ZRXZeIAMS(EX) 1,000,000 453,240 546,760
401 AIZHIX 20 1,000,000 453,240 546,760
01 A28l 1,000,000 450,000 550,000
OXE F=1 HIHESAH
500,000,000 x 14 500,000
O3 7 elE 0456 (A3HKIF) &ESA
500,000,000 * 14 500,000
gitx SS2 XS Ak 1,187,000 1,187,000
403 MR HHMSAHE01H 1,187,000 1,187,000
02 B2 S0t 2 S A A 1,187,000 1,187,000
Ottt St NSSHAY
1,187,000,000& *14] 1,187,000
MAD|E S (sEN Lt/ 5Y - 5&) 20,814,527 21,142,89% A\328,369
= 3,702,000
< 3,972,173
[Ea 13,140,3%4
st s 12,341,469 11,405,489 935,980
s 3,702,000
= 3,972,173
s 4,667,296
SLZIA 875,765 2,010,652 1,134,887
401 Al HIZL R 0HbI 875,765 2,010,652 A1,134,887
01 Al&HI 870,000 2,005,000 A1,135,000
O2lg ATOES(REXT) S22 SHYBA
60,000,000 *14] 60,000
Oogs R8T =2 EAE
20,000,000& » 14 20,000
O2d H=0te =2 A JHISA
20,000,000 *14! 20,000
O2gd N=ite s2 Al JBISAH
20,000,000 *14] 20,000
OJtellllEs 225 s2 SZISA
50,000,000& x 14 50,000
Ol HEDE 2SS 532 ZHSA
25,000,000 * 14! 25,000
OJtell 2H0tS(R0tA)s2 ZHSA
20,000,000& * 14| 20,000




A A4S
Ha: SIMAD|EE SA(SYNYEM/5Y - 5E)
el sgoletxd EER=E)
2 - IE!
SN - BE - BI(EH) - MRAY - BES ol ke e HimES]
Ole =& = =2 HUISA
25,000,000 * 14! 25,000
O=td ¥& =2 ZHISA
30,000,000& *14! 30,000
084 22 52 ZEIA
20,000,000 20,000
O8Y =8I+ s2 HESA
30,000,000 * 14! 30,000
O8Y daxX+ =2 HESA
80,000,000& * 14! 80,000
O8Y MEXT s2 EHISA
20,000,000& *14! 20,000
O S20IS 52 HEBDA(ROT)
80,000,000& * 14! 80,000
OXNE HA0E s2 0tA2 MR AL
40,000,000 * 14! 40,000
OXE F30t2 s2 0tAZE INRI| SAt
50,000,000& *14! 50,000
OXE Huote s2 ZESA
15,000,000& * 14! 15,000
O A SH0tE ALE SESA
20,000,000& * 14! 20,000
OH A S840 s2 HESA
50,000,000& %14 50,000
ORE &2 2 MEESA
30,000,000 * 14! 30,000
OS2 AEES 52 MEZZA
20,000,000& *14! 20,000
O=z7 2H270te s =2 It &X
S A 25,000,000& *14! 25,000
ORZ MSL3F0E sZ2EEIA
100,000,000& * 14! 100,000
OdJtell A =2 AWE HIHE AL
20,000,000& *14! 20,000
03 Al& = HHI 5,765 5,652 113
OsZEIAIY A=l
915,000,000& +0.63% 5,765
Eii+=2 JHIAS 1,146,827 1,295,076 A 148,249
401 AIEHIZL 2018 1,146,827 1,295,076 A\ 148,249
01 AlZHI 1,143,000 1,290,000 A 147,000
O2lg 22X+ Sti+== HHISA
20,000,000& * 14! 20,000
09" =202 == HUIZSA
15,000,000& * 14! 15,000
O2dg RaXF Ei+=Z EAt
20,000,000 * 14! 20,000
OE= & =2 WM3A
25,000,000& * 14! 25,000




2A: Aduns
HE: SOMAD|Y S (SEHYLA/SY - 5E)
Celr sHIIgtxd EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OFE=2 XSt &5 E+Z UMSA
25,000,000 3 14! 25,000
OZE=2 202 A HE=> SA
18,000,000 14| 18,000
OUel CiAl F24E =2 ZHISA
50,000,000 14! 50,000
O3tE &3 ZAIEE S22 ZHIAY
30,000,000 14 30,000
Ostd 9uits sZ4X =2 ZHIZA
20,000,000 *14! 20,000
OEY SHXF E+2 WHBA
50,000,000 14! 50,000
OB AN BI42 EHHIZA
15,000,000 & 14| 15,000
OXH= ZZ=E Hi£2 HUI2AM
20,000,000 *14! 20,000
O&= ZLUioIE stis=2 HEISAHEF
2h) 50,000,000 14! 50,000
OXIE YAOE =2 WHISAL
35,000,000 14! 35,000
OXE d4= 2t+=2 EXISA
30,000,000 *14! 30,000
OY AN 2202 =2 ZUISA
20,000,000 14! 20,000
O=Y 51942 842 FHIAY
50,000,000 14! 50,000
£ ZA0E sgE 22 FUIAY
30,000,000 *14! 30,000
ORY IS =2 WHSA
60,000,000 14! 60,000
O=d ool =2 FHIAd
30,000,000 14 30,000
O=4+ NS sHI4z FHIBA
90,000,000& 90,000
Os= 2302 SEi+==2 EX3A
20,000,000 14! 20,000
O25F A0 EH==2 WHBA
100,000,000 * 14 100,000
O=2F He27 NS th=2 EBI3At
70,000,000 * 14| 70,000
O2% HE0t2 ZXE EH+Z WHSA
160,000, 000& * 14 160,000
OR= 347 22 ZHIZA
50,000,000 14| 50,000
OS2 MENE &B a2 F|
20,000,000 *14! 20,000
OZ3 MEXF SEH+Z WHISA
20,000,000 14! 20,000
03 Al CHHI 3,827 5,076 A1,249




=N AEDSD
B SUMAD|Y S (SRS /S - BE)
S B SPITTESE CER-E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
| One=om) 1,063,000, 000! +0. 36% 3,827
NERSEINPER EPINESTESES) 2,431,597 1,300,000 1,131,597
= 2,001,173
2 340,424
401 AI&HIZ S CHY] 2,431,597 1,300,000 1,131,597
= 2,001,173
2 340,424
01 Al&HI 2,431,597 1,300,000 1,131,597
O3ty HIXP S2AAEHEFAIS (D)
1,141,507, 0008 %14 1,141,597
= 981,773
2 159,824
ONSH2AAEI| SR (D)
240,000,000 % 14! 240,000
= 206,400
2 33,600
OSHXT +2AAIE HEFAY (B
150,000, 0002141 150,000
= 129,000
= 21,000
OHIZIXIT 2118 HE AR (B
500,000, 0008 14! 500,000
= 430,000
2 70,000
OaDIXIT +2IAIE HEFAR (B )
400,000,000 %14 400,000
= 344,000
2 56,000
XI2{Z0I A QAT (S2IAIE) 100,000 150,000 50,000
= 30,000
2 70,000
401 AEHILSCH] 100,000 150,000 50,000
= 30,000
2 70,000
01 Al&HI 100,000 150,000 50,000
OSAINP 842 DAL
100,000, 0002141 100,000
= 30,000
=z 70,000
T2/ & X1 =4 2 Bl (Tl 2l &0 & X1 7) 2,963,280 1,805,400 1,177,880
2 1,300,000
= 650,000
2 1,033,280
401 AIEHIL S THY] 2,963,280 1,805,400 1,177,880




FA AELS
BB =QIAAD| B A (s /=2 - 5E)
el sgoletxd EER=E)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
= 1,300,000
=S 650,000
ia 1,033,280
01 AIZHI 2,675,000 1,500,000 1,175,000
OZZE NHMHASINEX T SHIAY
2,300,000,000& *14] 2,300,000
= 1,150,000
< 575,000
= 575,000
OBE TS THAHSIBMATIT HIAL (K
) 375,000,000& 14 375,000
02 Zeltl 300,000 300,000 0
OBZE HOTHAHABMLTI T HHIME 2Aal
A 2| ES 300,000,000 * 14 300,000
= 150,000
< 75,000
s 75,000
03 Al THHI 8,280 5,400 2,880
OBZE MM IHLX+ EBIAMS Al
el 2,300,000,000&*0. 36% 8,280
2SX 7 MolIg ==X ZH| 854,000 881,519 N27,519
[ 427,000
= 213,500
Ea 213,500
401 AlZHIZ S 0HbI 854,000 881,519 N27,519
[ 427,000
= 213,500
s 213,500
01 A&l 854,000 876,000 A22,000
OYSXT HAHIBHEK ZHlIAY
854,000,000 x 14 854,000
[ 427,000
== 213,500
s 213,500
E3X7 MoliIg =X &4 600,000 503,600 96,400
= 300,000
& 150,000
= 150,000
401 Al HIZL 201 600,000 503,600 96,400
= 300,000
< 150,000
T 150,000
01 A&l 600,000 500,000 100,000




FAN AZUSH
HE: SOMAD|Y S (SEHYLA/SY - 5E)
el sgoletxd EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
OE2X7 MoAFIBMSK ZHIAY
600,000,000 » 14 600,000
= 300,000
[ 150,000
T 150,000
AIMUXI Mol ==XI &Hl 600,000 503,600 96,400
= 300,000
[ 150,000
Ea 150,000
401 Al HIZL 201 600,000 503,600 96,400
s 300,000
s 150,000
s 150,000
01 Al&HI 600,000 500,000 100,000
OMFUTIT THHIETST ZHlAL
600,000,000& *14] 600,000
= 300,000
=S 150,000
s 150,000
W=XI7 oA M==XI EH] 1,200,000 402,880 797,120
= 600,000
=S 300,000
s 300,000
401 AIEHIZ SR THYI 1,200,000 402,880 797,120
[ 600,000
= 300,000
Ea 300,000
01 A28l 1,200,000 400,000 800,000
Ou=X= MolAS M=K ZHIAE
1,200,000,000& *14] 1,200,000
[ 600,000
= 300,000
Ea 300,000
=X MoHASE M=K &bl 1,200,000 201,440 998,560
[ 600,000
= 300,000
[Ea 300,000
401 A& HIX R0 1,200,000 201,440 998,560
[ 600,000
= 300,000
= 300,000
01 Al&HI 1,200,000 200,000 1,000,000
OF=X7 Mol M=K HHIAE
1,200,000,000& » 141 1,200,000




FAN AZUSH
HE: SOMAD|Y S (SEHYLA/SY - 5E)
el sgoletxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 600,000
=S 300,000
s 300,000
=X+ Mol Md+=X EH 200,000 120,864 79,136
= 100,000
= 50,000
o 50,000
401 Al HIZ R OHHI 200,000 120,864 79,136
[ 100,000
= 50,000
Ea 50,000
01 A28l 200,000 120,000 80,000
O2sSX = Mol M=+=X bl
200,000,000 *14] 200,000
[ 100,000
= 50,000
[Ea 50,000
QDI Mol Ig ==Xl EH 150,000 0 150,000
[ 75,000
= 37,500
o 37,500
401 AIEHIX SO 150,000 0 150,000
= 75,000
& 37,500
= 37,500
01 Al&H| 150,000 0 150,000
OQDIXI7 Mo M=K SHIAE
150,000,000 *14] 150,000
= 75,000
< 37,500
s 37,500
LELS A EN AL 4,002,880 3,402,880 600,000
I=MEoITe(sHES)-Q& KT IESE2HE (A 3,000,000 3,000,000 0
&) (HEA)
403 AXIEHMSAH=01d 3,000,000 3,000,000
02 SISOt =2 H P E A I 3,000,000 3,000,000
OEX7 XNES22 HEAS (HE)
3,000,000,000& *14] 3,000,000
I=dEoltel(sgE)-IIHa ZAZ SEF(HE 402,880 402,880 0
(HEAY)
401 Al HIZL 201 402,880 402,880
01 Al&H| 400,000 400,000
OJIHSBAZ I (M E)
400,000,000& 400,000




FAN AZUSH
HE: SMAD|Y S (SHHYL /5D - S5E)
CHSl: UBHS AR ALY (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 A& S CHYI 2,880 2,880 0
OJIHSHEAZ SHEIAY A0
400,000,000&*0.72% 2,880
HEFHHAXH 100,000 100,000
401 Al HIZ S OHbI 100,000 100,000
01 A28l 100,000 100,000
Ogdg gd M= 2dame JI2 & &
AEA =g 89 100,000,000& 100,000
J=MEoITe(sENL) (HE) 500,000 500,000
401 AlEHIZL R0 500,000 500,000
01 Al&HI 500,000 500,000
OFUXZAIL(BE NATHLAZEHEXIF)
500,000,000& 500,000
SEIIBAIE = Al - 2l 2,400,178 1,884,527 515,651
Bi=&2tel 212 85,807 71,539 14,268
101 @1A4H| 85,807 71,539 14,268
04 JIZtN22 XS 2+ 85,807 71,539 14,268
Otii=& &tc| oFY
78,8802 x28H 35 77,303
OdtiEs= 77,302,400 *11% 8,504
JIgtAE2E X 507,240 504,240 3,000
201 er23| 177,240 154,240 23,000
01 At2teltl 56,240 56,240 0
Ot 7 20,000,000& 20,000
OXlote= &I «=2AMN ==&
36,240,000& 36,240
02 s3=gHl 121,000 98,000 23,000
O3323 % MAI(2b=Z 20012)
50,000,000 50,000
03323 % MA(AS JILHAIZ)
6,000,000& 6,000
Odti=& MIetM 22| el =3 (2HH
=& A7HL) 60,000,000 60,000
Odt=& A2F Fe(FelA 8)
5,000,000& 5,000
401 AlZHIZ SO 330,000 350,000 220,000
01 Al&H| 330,000 350,000 220,000
O=98 332E Xot=F&xTA Y
30,000,000 30,000
OsgIIEAlE RXl2el
300,000,000 300,000
=2lAlE RX2el 230,000 245,000 A15,000
401 AlEHIZL R0 230,000 245,000 A15,000
01 Al&H| 230,000 245,000 15,000
OS2 =4 150,000,000 150,000




FAN AZUSH
Hu: SIMAD|EE SA (YWY 5Y - 5E)
Celr SHIIEAIE KA - 2t (EEEE))
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
O==elAld |sR2el(s=2c/2)
30,000,000& 30,000
O3td =5 FUE MIHISA
20,000,000& * 14! 20,000
ORE 40012 2 22
30,000,000 * 14 30,000
M=Kl =Al2el 702,910 563,748 139,162
401 AIZHIZ SO 702,910 563,748 139, 162
01 Al&HI 697,150 563,748 133,402
OM==Xl Mg 24l 187,150,000& 187,150
OM==Xl 2t ZH| 10,000,000 10,000
OXN==AXl RXl2el 100,000,000 100,000
OU=X7 MHoHASM==X HI&HHAH= =
g 29 50,000,000 * 14 50,000
OH=X7 Mol X=X Bl &A=
+8 89 50,000,00021 14! 50,000
O2sSX 7 MHAIEM==X AN A= +
g =9 50,000,000& » 14! 50,000
OMsXN 7 MoHAS M=K X A= 5=
g 29 50,000,000 * 14 50,000
OE=X7 MeHASM=X UK A= =+
g9 50,000,000 *14] 50,000
OdsX= MolPIEM==X AN A= +
g =9 50,000,000& *14! 50,000
OAMUXIF THoH A& M=K HI& X H =
TEHEY 50,000,000&*1& 50,000
OUS 8& ==Xl JBISAH
50,000,000 x 14 50,000
03 AlESTHYI 5,760 0 5,760
OAl& Yl 800,000,000& +0.72% 5,760
=& "2l 874,221 500,000 374,221
401 AlEHIZL SO 874,221 500,000 374,221
01 A&t 870,000 500,000 370,000
Otf4Z ZIINFFZ B (FIS)
80,000, 0002 80,000
O+ YT 2 ()
120,000,000 120,000
Odti+=& FXl&el 250,000,000 250,000
OUHHAE ALHS ZHIAL
400,000,000 * 14 400,000
OXE Lot Al =AY
20,000,000 x 14 20,000
03 AIZSTHYI 4,221 0 4,221
(OZNE=E 8 [a] 670,000,000& +0.63% 4,221
St=sHES AL 2,070,000 4,450,000 2,380,000
SsEIIEAIE R 2l 2,070,000 4,450,000 2,380,000




FAN AZUSH
HE: SoMAD|Y S (SEHYL/SY - 5E)
Rl S=sHES AR EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
403 AXIEHMSAH=01& 2,070,000 4,450,000 22,380,000
02 SISt 2 S A AIEHI 2,070,000 4,450,000 22,380,000
O+ S+2 AL
410,000,000 410,000
OzZE7 E+Z ZHIAIY
500,000,000 500,000
O+ E+2 JHIAL
118,000,000 118,000
o=+ S22 AL
87,000,000& 87,000
OLE+& == S2A
210,000,000 210,000
OZdti+& ReXl =2Ad
180,000,000 180,000
Oootl+=& R+A =2Ae
110,000,000& 110,000
O+BU+T R4X FL M
126,000,000 126,000
OHBH&H ST ELAL
79,000,000 79,000
Od=til+& R+Al E2AE
50,000,000 50,000
Otii=& |Xl2el 200,000,000& 200,000
=ZE° SE8X 2A2(ZELXNGMNL/XNALEAI) 4,919,807 5,841,118 A921,311
KIS AL 4,919,807 5,841,118 A921,311
FRI2HOAS 4,669,807 5,841,118 1,171,311
201 Ler=23| 6.760 6.760 0
01 At2teltl 6,760 6,760 0
OEsL€H Sl 8,000& x40+ 138 4,160
OgsdA MNRES 7
200,000 %13 2,600
202 04| 4,680 4,680
01 =LHO LI 4,680 4,680
OESEH J=gdR=d Ol
20,0002 x18€ 13 4,680
401 AIEHIX SO 4,658,367 5,829,678 A1,171,311
01 Al&H| 4,647,567 5,817,000 1,169,433
028 AUE SSFIE ZgSAE
70,000,000 *14] 70,000
Oog N=0te =2 HESA
600,000,000& x14] 600,000
Ootell &fdits ot =y
30,000,000& » 14 30,000
OJHel &ZE0E (0t 2) 2422 HE SA
25,000,000 * 14! 25,000
Ootell tHE0tS oH2 ZHISA
30,000,000 *14{ 30,000




2A:

MM Z2E9| §8& 2 (RELXFIHY/XNALTAI)
&2l KIS IHE A (S &S
. = SIE]
SA - B S(BH) - MISAY - BAS Ofl kot ddT HR=2

ol &y

OJtedl

SA

Ot

oue

ouel

oSl

Ozt

O3t

40,000,00084 %14}
LIX0tS or B2 EHIZA

20,000,000 * 14}
A BAS A2 22 ZA

25,000, 00084 * 14}
AEOIZ 02 OtAR EHTBA

40,000,000 14

00,000,000& *14{
A=oE @ MAZ SHEIDAL

25,000,000 x 14!
SEOE SEFIUHE &4 SAt

85,000,000& *14]

35,000,000 *14]
SZE ZHIXIS =2 ZHIZA

50,000,000& x14!
S3 ME= =2 ZUISAt

30,000,000& * 14!
otE HE= ME ZHISA

15,000,000 & * 14!

-

HATHAI =XHE &AL
139,000,000 x 14!
S M&E o=+ SAt
25,000,000& * 14!
T O0S A2 JHESA
10,000,000& * 14!

o

iin
El
>

SEME0IE HEEE HESA
50,000,000& » 14
=0l 2t HEHSA
20,000,000& * 14!
HFS ME SHEHISA

30,000,000& *14]

altl
1
=]
o

NIEEHIS At

30,000,000 x14!
02 =2 EHIAI
30,000,000& * 14!

2
o[

S SAXT A | A

25,000,000 *14]

10,000

20,000

15,000

70,000

40,000

20,000

25,000

40,000

100,000

25,000

85,000

35,000

50,000

30,000

15,000

139,000

25,000

10,000

50,000

20,000

30,000

30,000

30,000

25,000




2A: Aduns
M 2ES S A (FELXNGML/XNSUTAI)
Rl XIS IHEALS (e A
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OZ4Y Jt0l A& EHUISAt
45,000,000 *14] 45,000
O24Y oA HAIZ ME ZHISA
20,000,000 *14! 20,000
O8C 2AIB HIF FHIBA
20,000,000 14! 20,000
O&E4Y 4tsiits ok A EUISA
20,000,000 & 14! 20,000
OFZ &DI0IS ot OtAE M RIS
At 25,000,000 *14! 25,000
OF= Ul 23 ot JIEe Y EXI3A
7,000,000 * 14 7,000
OF= 48,230t o2 0tAZ TIM 2D
=I\; 70,000,000 *14] 70,000
OF3 A ME HHEHIZA
45,000,000 * 14| 45,000
OB A1) 9L HEFBA|
40,000,000 * 14| 40,000
OF=3 §3 24 0rso =2 FHIZ3Al
5,000,000 * 14! 5,000
OF= &A= SF0I= & HIOIEAIE &X
SA 15,000,000 * 14! 15,000
OF=2 42 A= THOHRIE HHEHISA
20,000,000 14! 20,000
OF= 3 252 Mool MEEBIAI
20,000,000 14| 20,000
OXIE LIZ0i2 =2 HUISA
100,000,000 * 14! 100,000
OXd 85 =& =48 SAH
100,000,000 * 14 100,000
OXE 2=30t2 o2 TIMR2I|3At
20,000,000 14! 20,000
OXE d<20t=2 M&E ZHISA
55,000,000 *14! 55,000
OXIE A0S ot AlH FHISA
20,000,000 14! 20,000
OXIE &0t M&E HHIALE
20,000,000 14! 20,000
OXE S=0t=2 MEEHEIAY
20,000,000 *14! 20,000
OXE A0E ME HUIZSA
20,000,000 14! 20,000
OXIE Hot0t2 o2 JHISAt
20,000,000 14| 20,000
OUM 220t2 42 0IAR HMSI|BAL
20,000,000 *14! 20,000
OY N S0t et AFH EHISAL
30,000,000 14! 30,000




A A4S
M JEQ S8 e|(FELXAINY/
Rl XIS IHEALS

]
12
He
n
=

RA - BH SRS - LAY - BAS ofl &t A

O4A £3 L SANIS 22 OIAR AN

JISA 60,000,000 x 14! 60,000

70,000,000 #14! 70,000
OYAl 01OI0KS 912 BH42 EXITA
10,000, 00024141 10,000
0=y ZS2 01202 HEZTA
70,000,0002414] 70,000
22 ANOIS TYZ HTIHBA
20,000,000 #14] 20,000
OR HS & ZHIBAM
40,000,002 141 40,000
ORY +30i2 92 F4F SHTA
30,000, 00021 #14! 30,000
22 2A(QAKIT) OLAR HEZAY
30,000, 00024 #14] 20,000
ORY 22 HEHS ZTHBA
15,000, 00024141 15,000
OSg 270kS 42 4 ZA
10,000, 00024141 10,000
S OB YR HAFIBA
30,000, 00024 #14! 20,000
ORY £20k2 92 THTA
50,000,002 141 50,000
OFg 2Ys =0l HOAL &7
200,000,000 %14! 200,000
S SIS A B4R FUITA
15,000, 00024141 15,000
ORY 2S(22)02 VY2 ZHITA
160,000, 000241 4] 160,000
ORY AoIB NE FHIZA
94,956, 00021 +14! 94,956
S FHOIS NIE IBAS BLTA
30,000,000 #14] 30,000
0= FHOIS ME 2ABA
30,000,002 141 30,000
O=4 N0 AYER HHITA
43,611,002 141 43,611
OZ24 A0S HE HHBA
10,000, 00024141 10,000
OZ4 MEDIS 9 OtAZ EZTA
30,000,002 141 30,000
O2F CIE0lE 912 OtAE EFTA
35,000, 00021 %14! 3,000
O2F LE0I2 ME FIHIBA
50,000,000 #14] 50,000

100,000,000& * 14! 100,000




SN ALDED
I =E9| 528 2A(FELXAMNL/XALTAI)
Rl XIS IHEALS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=F 420t MEZHISA
30,000,000& »14] 30,000
O=F AS170= =2 EXISAt
50,000,000& »14! 50,000
OS2 SS0I2 o2 HEH U =XY &
SAt 50,000,000& *14{ 50,000
OfF= MELNS o2 d8d SA
50,000,000& » 14 50,000
OR= SUOtS ti==AlE EXISA
20,000,000 *14! 20,000
OF= MSMH7 SZHE NME 4F5SA
45,000,000& *x14] 45,000
OF= MZl2=10t= ot LI IAL
38,000,000& *14] 38,000
OfR= Mzt B2 ZUISAt
50,000,000 *14! 50,000
OfF= HEOES NE 4FLXISA
50,000,000& *14{ 50,000
OR= 80t Sci= AE 2E JHISA
20,000,000& »14] 20,000
OF= dd=0l= o= SZ A 01118
A ZE SA 10,000,000& * 14! 10,000
OR= H=0t2 =2 ZX SAt
20,000,000 * 14| 20,000
OltsH2 F A 22AL 100,000,000& 100,000
OltsdHFA2cIAI 50,000,000 50,000
ONE R X2l At 100,000,000& 100,000
OXISDONZAIY AAIEH ESHI
100,000,000 * 14| 100,000
OY A (42lits or =HESA
10,000,000& * 14 10,000
Ootel adlsl& & Bi+=2 FHISAH
20,000,000 * 14! 20,000
O84 dlA0ts FiE Zd3A
100,000,000 *14] 100,000
OFE ZZ ME A JHISA
40,000,000 *14] 40,000
03 AIESTHYI 10,800 12,678 A1,878
OFLALAAY AIZ2 I
3,000,000, 000& *0.36% 10,800
THE A2 At 250,000 250,000
401 Al HIZL S 0HYI 250,000 250,000
01 Al&HI 250,000 250,000
OF=Z W33AWE HHIAY
250,000,000 * 14 250,000
WSHYAL(WSHER/UHSLS - SFRSIIE) 13,876,765 11,213,821 2,662,944
= 323,300
= 345,000




FAN AZUSH
¥ nsdy2Ae(RSHEF/USRS - S7SIIEY
Chel: dinE 23t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 3,058,961
s 10,149,504
duE 23 7,397,190 7,036,734 360,456
= 323,300
[ 345,000
= 143,961
Ea 6,584,929
gAd, Ot 28X 2,056,318 1,855,618 200,700
[ 180,000
= 50,821
= 1,825,497
307 elzto| & 2,066,318 1,855,618 200,700
= 180,000
< 50,821
T 1,825,497
09 2+A2LS 2,056,318 1,855,618 200,700
Oglld £4ExS
670,000,000 * 1 670,000
= 180,000
[ 50,000
Ea 440,000
OltsHA=2d Z2&H 242
100,000, 000& * 1= 100,000
OsHEHAZHE WEXE
1,273,618,000& 1 1,273,618
OsUElA 220 & 2X3
8,000,000& 1 8,000
OHAIRS H=EM =2
4,700,000 1= 4,700
= 821
[Ea 3,879
N L ol 2EAME AA 3,691,253 3,689,372 1,881
307 21201 & 3,663,600 3,663,600 0
09 2=FAHEXS 3,663,600 3,663,600 0
O2+gH |IEX 3,663,600
—Ot=8A 250,000 x40 12 12,000
—HIEA 100,000 «19CH* 123 22,800
—JHRIERA] 100,000 «49CH* 122 58,800
—sHEHA 500,000 *13CH* 122 78,000
—ggEs= 600, 0002 «485CH 122 3,492,000
308 XXM SOIH 27,653 25,772 1,881
18 SIS0t 4 A AS A 27,653 25,772 1,881
OHAZdI22ANAYE 28 & R
11,4803 *56H 643




FA AELS
¥ nsdy2Ae(RSHEF/USRS - S7SIIEY
Chel: dinE 23t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHAFEAIA(BIS) RXIE+
27,010,000& 27,010
WSy R2E N2 105,219 67,744 37,475
= 1,500
o 103,719
201 et 3| 76,319 35,844 40,475
01 At 22|l 10,800 21,525 A10,725
Oget=ZH] 7,000
—UE28L SIS BHAE EE2=S
M1 1,000 *1,0000HK 1,000
—UESHNHAIS R AEH 7Y
5,0002 *2000HK 1,000
—HMUSESIH S8  EEE AH
50,0002 x25+100H 1,000
—MMATE It XM A2F
1,500,000& 1,500
—uSHE ALY EE2=
50,0002 *55* 100K 2,500
o= 1,200
—FIR AE SER(TLH) S 512 1
=Hl 200,000& x3E *22] 1,200
O=gl 2,600
—DESHYSEX S2YA|
8,0002! 452 652! 2,600
® 2=2H| 21,519 14,319 7,200
OBIS 2HI(Salbl, #II22 S)
593,200& 122 7,119
OuSIIEAIAY RXI2=H|
1,200,000& * 12& 14,400
03 A= I 44,000 0 44,000
OULSSH dE0ls 89
22,000,000& »24! 44,000
202 04| 3,300 6,300 23,000
01 =LHO LI 3,300 6,300 23,000
O=Y =gt N=ts 30|
20,0003 x58 33 3,300
203 HR=H| 600 600
03 A= PR FAI| 600 600
OusSHdg R 20,0002 x5 & 62| 600
207 ARl 20,000 20,000
01 A S| 20,000 20,000
OsO0HEHA ES5-AEH HFAES
20,000,000 20,000
301 LEIE NS 5,000 5,000 0
= 1,500
= 3,500
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SN ALDED
¥ nsdy2Ae(RSHEF/USRS - S7SIIEY
Chel: dinE 23t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 165,000
s 165,000
307 lztol & 330,000 450,000 120,000
= 165,000
= 165,000
09 2+ AHAELS 330,000 450,000 120,000
OsZ% DEDY HA HEXL
110,000, 0002 *3CH 330,000
[ 165,000
s 165,000
SctE A 2SXE 363,600 332,000 21,600
= 176,800
= 88,400
o 88,400
301 EetE NS 350,000 328,400 21,600
= 175,000
= 87,500
Ea 87,500
14 JIEt 2 a3 350,000 328,400 21,600
OEctEASHAl 20 HE =2UXNES
350,000,000& 360,000
= 175,000
= 87,500
o 87,500
308 AtAIEHMSOIE 3,600 3,600 0
= 1,800
= 900
o 900
18 SIS0t HAS A 3,600 3,600 0
Ox=RsHE WEWS(RT) AIAE AIEE
300,000 * 12 3,600
= 1,800
= 900
= 900
2dEWSItE 800 1,400 2600
= 400
= 160
= 240
308 AXIHSOIA 800 1,400 2600
= 400
== 160
= 240
18 SO 2SS 4 AS A 800 1,400 2600




2H: HEWED
A DEHI2A|(NELSR/UBLE - 2R SIIEH
Chel: dinE 23t EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OLENEIIE OrYelX Bai2 Arg)
800,000& 800
= 400
= 160
= 240
EHAl B2 TAAIY 20,000 0 20,000
207 AR HI 20,000 20,000
01 A1 E9H| 20,000 20,000
OEANEE TAL S 20,000,000 20,000
UsusH 82 XA (K-THA) 1,400 0 1,400
= 700
& 280
= 420
308 AHXIHMSOIH 1,400 0 1,400
= 700
= 280
= 420
13 BI |2 SUICHEHZ A E L EF AL 1,400 0 1,400
OtzEnsyl &2 X2 (K-IA)
1,400,000 1,400
= 700
= 280
= 420
SHEHA |28 XHaE IIXIEI 89 25,000 0 25,000
401 A& B 200 25,000 25,000
01 A&l 25,000 25,000
OSOEHA R2F K& IIXIBI 8
25,000,000 25,000
HOIEAI2=BALAL XM JH&Hl XI& 6,000 0 6,000
T 1,800
= 4,200
301 LetENZ 6,000 0 6,000
= 1,800
= 4,200
14 J|EI2 43 6,000 0 6,000
OYQCIEAI2BALA M2 H&Hl X3
50,000 *10Z *12& 6,000
& 1,800
[ 4,200
WSHHAIEZE &= 6,479,575 4,177,087 2,302,488
& 2,915,000
= 3,564,575
WSOHEAIE &X 500,132 389,787 110,345
401 Al HIZL S 0HY| 500,132 389,787 110,345




FAN AZUSH
gy nsdy2Ae(RSHEF/USRS - S[SIIEY
Chel: NSOHNAIdE &5 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 497,000 387,000 110,000
OF2 =HUH NSHEAIZE £X
20,000, 000& x24 40,000
OF2 SHUHl Xt ZAAFY
75,000,000 75,000
OusisI| |FAES 22,000,000 22,000
OUSHTAIEE RAE=
50,000,000& 50,000
OusSHAE & & Wi
500,0002 100K 2= 50,000
OBrArE &1 & 2
500,000 80K 2 40,000
Oxtd IS &R 100,000 #3004 2= 30,000
Ocgzl &2 =8 HAl
20,000, 0003 x24 40,000
OHA 2i0Is3E 4X
7,500,000 *40H 2= 30,000
OuStss == 2 & 43302 wA
6,000,000 *57H 2~ 30,000
OuA20Is2d FA2+
5,000,000& +44] 20,000
OYPE U MBS 4X
15,000, 0003 »24! 30,000
OgeZE ZEF(LD S2I1) £X & W
Al 5,000,000 *47H 2~ 20,000
OgZd wsSHdEX Ald & XKl
2,000,000 *10JH £ 20,000
03 AlESTHYI 3,132 2,787 345
OuSHEAIE X AIZ=R0ibI
497,000,000& +0.63% 3,132
F=Xtztel 27,568 15,568 12,000
201 er23| 27,568 15,568 12,000
01 At2tltl 15,400 3,400 12,000
ORAHAERA 2| 15,400
—0ISAl BEA YR
2,000,0002 6 12,000
—0ISAl BHEA 2L
300,000 42 1,200
—0ISA o =3 1,200,000& 1,200
— AR 7R =3 1,000,000& 1,000
02 S3=gHl 12,168 12,168 0
OFIHErS(CCTV) HAHEH RXIE =] 12,168
— &4 KX 264,000& 122 3,168
—FXIEHE(CCTY) RAIE4 89
2,000,000& 4= 7| 8,000
—FHIAHAZERA M=
83,3002 123 1,000
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